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OET-022 : UPPER ASSEMBLY AND PLANNING 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer all questions. 

SECTION A 

(Short Answer Questions) 

1. What is the basic difference between simple 
Derby and Oxford shoes ? 

	
4 

2. During upper making, which parts of the shoe 
must be reinforced ? 
	

4 

3. What is the use of interlining ? 
	

4 

4. Name at least four machines which come under 
the flat bed category of sewing machines. 

5. Write at least four safety points for operator 
while working on stitching machines. 	 4 
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SECTION C 

(Long Answer Questions) 

8. Write down the sequence of operations for 
making Oxford upper having following 
components : 
	

15 

Upper — Vamp, Quarter, Tongue 

Lining — Vamp lining, Quarter lining, Heel grip, 

Tongue lining 

9. Describe good working habits in closing 
department. 	 15 
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SECTION D 
(Match Column A with Column B) 

10. Column A Column B 

(1) Skiving (a) Reduce the full 
thickness of the 
material 

(2) Back stitch lever (b) International 
Labour 
Organisation 

(3) Strobel machine (c) Releases the 
tension disc 

(4) Post bed machine (d) Water based 
adhesives 

(5) Knee press (e) Reduce the 
thickness from edge 

(6) Polyamide (f) Lock stitch 

(7) Matrix skiving (g) Reduce the 
thickness in mid 
of material 

(8) Latex (h) When it is pressed, 
feeding of material 
is reversed 

(9) ILO (i) Use in 
thermofolding 
machines 

(10) Splitting (j) Chain stitch 

10x2=20 
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SECTION E 

(Fill in the blanks) 

11. (i) In 134 needle system, length of the needle 
is 	mm. 

(ii) 	 ticket no. thread is used for 
top threading. 

(iii) Standard stitch length for 40 ticket no. 
thread is 	stitch/cm. 

(iv) Never use 	  point needle in 

zig-zag machines. 

(v) 	machines produce chain stitch. 

5x2=10 
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